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PAPER CODE 2017 (S) (Yo~ A

INUMBER: 1266 SSC PART- (9th CLASS)
GE§ERAL MATHEMATICS GROUP-I v < ond Pl
TIME ALLOWED: 20 Minutes OBJECTIVE gﬁ/’y @20 = =
MAXIMUM MARKS: 15 15= AF

A oL /L)r}i):ih"‘}iﬁfzf.ufi_.fuc_.gfu:/br':c_.'d. Lféd'f/‘/é(db’ ..:J‘ér_.J D . C:B:A _.L[:’jlbédirf -y
1 4§;.bLJf/d)(gﬂ..-J!"J¢./( ~4 Bubbles i{rﬂ"’kk.,,fiuxau’u»‘(;d_/f; Jok¥ b 4_../4;’1}1/?)“_1:,1:'_...__{ =
Note: You have four choices for each objective type question as A, B, C and D. -;_{/C:J"fi_-,urq.;{_grr
The choice which you think is correct, fiil that circie in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 < /‘,}Jlr
(1) The amount which is paid by a bank on the deposits is called:- -U‘Z‘.rc.fc.t/ 3] H:i.ﬁ-{ﬂ:f Jr/ o (1)
(A) Premium {5/ (B) Bonus u’? (C) Profit Cﬂ (D) Mark up NS
(2) The tax in addition to the price of the article is called:- - Jff du*u‘Jd /o‘ (2)
(A) Tax Jg (B) Sales tax JC .8 (C) Income tax JC/! (D) Excise duty dﬂuLf!
(3) Taxes of the form of duties, motor vehicles, taxes are called:- _JJ,L PN J‘fw- 25 ()
(A) Indirect tax Jg&-!:’t_, (B) Direct tax J?:/Ua'/. (C) Property tax J/I/ (D) Income tax (i
(4) 37 iscalled- iy @
(A) Radical i (B) Radicand . (C) Rational number s/t (D) Integer iy
(5) Thirdtermof @ =n +3 ,when n=0 is- Gn on=0 Bntd A a, =n+3 ()
(A) 3 (B) 6 (C) 9 (D) 10
(6) AMbetween 65 and 2V5 is- b 205 4 65 (6)
) 345 (B) 4/5 (C) 545 (D) 74/5
M FU={,23}and 4={1} thenU-4=2 U-A4=2 W a={1}s U={123} /1 (7
(A {2.3 } B) {12 } © {13} (D) ¢
(8) If y=3x ,thenfor x=2 ,wehave y =72 y=23f x=2 & y=3x /1 (@8
(A) 2 (B) -3 (C) 6 (D) 0
9) X(xi-x)=0 isone of the property of:- H‘LH?L;‘/MGJ _ f E(xi-x)=0 (9)
(A)AM bl (B) GM Lbif/ (C) HM by} (D) Mode »k
(10) —?6 in terms of percentage is:- -ﬁ;uff;fﬂ;} % (10)
(A)20 % (B) 3.5% (C) 200 % (D) 35%
(11) Intheratio a:b "5"is called:- g v gedfaib ()
(A) Extreme JL(! (B) Antecedent &.M&ar (C) Mean c,.f“"; (D) Consequent ./fgf ¥
(12) On a crop produced on artificial resources Ushr is deducted ..r_C,/J d/J//J" JF Uer b’c.dlndr” (12)
at the rate of - (A) 25 % (B) 10% (C) 25% (D) 5%
(13) In the presence of two or more than -f:u?'o’ulutt,f;:?y‘u/u’f)zdg.gulu’( ;..J)’J.,:,ggu‘l_fiizug::@):_»y: (13)
two grand daughters or from father one agnatic daughter, their share will be:-
I 1 1 2
(A) 3 (B) 7 (C) 3 (D) 3
(14) Profit is earned when:- -:/@m}’ 1,8" (14)
(A)SP=CP  wedyjed = 4icd (B)SP<CP  w=3yjad < CP s/2d
(C)SP > CP  wisjed > 4i2 D)SP=MP  =hjed = =dpuyes
(15) An instrument for payment order issued g ‘)’LIJJLOIH".PJJJJ bﬁ...f»d’.ua/f( LA (15)
by a bank on the request of its customers is called:-
(A) Bonus (¥ (B) Cheque 33 (C) Pay order JLT&; (D) Profit {3?/
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|NUMBER: 1261 SHGEARMLR )

'GENERAL MATHEMATICS GROUP-|

TIME ALLOWED: 20 Minutes OBJECTIVE (%>.» e 20 = &y
MAXIMUM MARKS: 15 = A

/.:... el /LIEUWJW& Ff..«fu;_.d‘;,‘s/hcf.’_..);..bﬁp“ff JE’J'J’ v, yD s C B A ....-LL?.ﬁAad_Jfrf e
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Note You have four choices for each objective type question as A, B, C and D. < jdd’/c;_.urr{.;{.glr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A /:id,,,

(1) 0.13 as in percentage form is:- -gu.‘.'f&vd 0.13 (1)
(A) 13% (B) 130 (C) 30 (D) 10 %

(2) Lowest form of 75 ; 95 is:- <P 15:95 (2
(A)15:17 (B) 15:19 (C)19: 15 (D)17: 15

(3) Zakat is deducted at the rate of:- <A WGG )
(A) 3.5 % (B) 4.5% (C) 25% (D) 5.5. %

(4) On a crop produced on artificial resources, Ushr is deducted @:- &l A u/ o // ' L?/ J...r K..:.L,Lu;, (4)
(A) 5 % (B) 10 % (C)2.5% (D) 25 %

(5) Loss is there when - Setrgld  (5)
(A)SP =3s/d < CP 4icd (B) SP wiyfed > CP 4ied
(C)SP &3s/ed = CP 4iud (D)SP =3yfed = MP =dfuyls

(6) The returned earned by the bank on loan is named as:- _ - d/c_ic.quwﬁi/c.' } (6)
(A) Premium (% (B) Markup Ik (C) Bonus (/% (D) Profit b

(7) Abill of exchange drawn on a specified et I Yk 1S Nl ise SR b ()

banker and not express to be payable, otherwise then on demand is called:-

(A) Bank Draft 235& (B) Pay order 4le (C)Cheque 2 (D) Bill of exchange FEsi

(8) The tax charged on all taxable income is called:- —c blhse bl 4T Jerw, oo (8)

" (A) Sales tax JE)’ (B) Direct tax ug.:/l;ub: (C) Excise tax Jgfb.ff (D) Income tax uj

(9) Taxes in the form of duties, motor vehicle taxes are called:- -gggf e SR QU/C -J’/ﬁ,-}r G2y (9)
(A) Direct tax Jg..:/baff (B) Indirect tax JE:&,U’; (C) Property tax ug.}i..flg (D) Income tax u:ﬁ,ﬁ

(10) The Logarithm calculated to the base "10" is called:- _ug@f/ﬁ@a::ﬁdﬁi 10U (10)
(A) Common Logarithm (%l ¢ (B) Mantissal#*" (C) Characteristic .-b (D) Natural number mf,h,:’

(11) Fourth term of a, =-1—, is:- (“ :,?, a, ———I——7 (11)

| (Zn—l)“l | (2n-1)°

(A) 5 (B) g1 (C) 29 (D) 0

(12) GM between 1 and 8 is:- e b Aol 841 (12)
(A) £242 (B) -2+/2 () V2 (D) 242

(13) (u4nB)‘'=__ (4aNB)"=___ (13
(A) A° N B¢ (B) 4“UB* (C) ANB (D) AUB

(14) The Co-ordinates of Origin are:- Slnehsliy  (14)
(A) (0, 0) B) (1, 1) (C) (0, 1) (D) (1, 0) )

(15) The score which occurs most often in a set of data is called:- -< L‘Lk( rE_T,;/u:ch. SIS R s (15)
(A) Mean Ll (B) Mode sk (C) Median 2 (D) GM knig 2

33(0bj)( 7 )-2017(S)-500  (MULTAN)



2017 (S) 1), D A

/ /
. SSC PART-l (9th CLASS)

" GENERAL MATHEMATICS GROUP- bt < o/ Sl
TIMPALLOWED: 210 Hours SUBJECTIVE (Lo £a10 = &y
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number -g&z:d@.{.}ir,@é 6»/-,};'}.’»&:‘Ulrlﬁs&&}iﬁ <y

and its part number on answer book, as given in the question paper.
SECTION- (sl.o

2. Attempt any six parts. 12=2x6 . .{/ /..,L!féiiii.:.df 224y
()  Define Compound Proportion. Y /’J..wbu‘} (i)
(i) 1f84 % of a book consists of 420 pages $E e J IS e 420 . 84 % st )

then how many total pages will be in the book? ]
(i)  Express 75 % as fraction in the lowest form. SO LNTA 5% (i
(iv)  What is meant by Nasab-e-Zakat? ?c..ﬂ/UZ-..uC...u (iv)
(v)  Calculate Ushr on a wheat crop amounting to -u‘fr}"//u 3,50,000 L,(.JLJ"’ Jl"" Ak a.dludr” (v)

Rs.3,50000 produced by Artificial Resources.
(vi)  What is meant by Cost Price ans Sale Price? Sl aspedmsicd (Vi)

120% & o g 1TS5=atjed  phied i)
(vil)  Find cost price when SP = Rs.1755 and
Profit= 12 3 %
12% = 2of 1l &1 858 = eisped L ebadiibln (Vi)
(viii)  Find Marked price when SP = Rs.858 and discount =12 %

(ix)  What is Online Banking? *’:_LLI:C;JUU! (ix)
3. Attempt any six parts. 12=2x6 Yy j.,wéwc_df 34w
i) Whatis meant by "Pay order'? fes e f¢. . (i)

(
(i)  Whatis meant by Excise D emw‘-_u;,,u (i)
_;{r}v/v)’/u% 30 LUK 48 16% (B e b0 ESEVIVL i)

(i) The price of a tricycle is Rs.4000. If 16 % sales tax is charged, then calculate the amount of
sales tax on 30 such tricycles.

(iv)  Express 3/27x"  inexponential form. -étfkuftﬁ Sved 275 ()
(v)  Write 0.0000281 in scientific notation. -ﬁ;yf}u*vf 0.0000281 (V)
(vi)  Write 18.42 x 107 in decimal form. -quuﬁf ui,ut‘-ﬂ/ 18.42x10™  (vi)
(vi)  FindanAM between 645 and 245 . ELE L 25 A 65 (il
(vii) If a,_, =2n—12 thenfind @, Eea, e oa =212 S i)
(i)  Find AM between x —1, x+ 7 EPaFesl x-1, x+7  (i¥)
4. Attempt any six parts. 12=2x6 S ferlinge a4y
()  Define Union of Sets. Qe )
(i) Find CUD ,if C={2,3,4,5}and D={67} 4 C={2,3,4,5} &> cup i
D={6,7}

( 2—' JJJ)




(vii)
(viii)
(ix)

/\9 (2)

If 4={1,4,7,8} \

And C = {3,4,5,7 } thenfind 4NC

AﬂC-éﬂﬁ%C={1¢i7};ﬂA={L%18}ﬁ'(m-

Define Cartesian Plane. -qf.@ﬁ&dﬁ-‘u’%b/. (iv)
Represent the points B (3, 2 ) on the graph. -L,ff/;LK.;.Jlff B(3,2)6  (v)
Using formula convert 86°F into C° . g oo 86°F Lal S)evs (i)
What is meant by Histogram? @.W&.ﬁgj ¥ (vil)
Forthe dataset 5, 4, 5,4,3, 4, 2, 6 findthe Median.  -Z#bsf 5, 4, 5, 4, 3, 4, 2, 6 orlly  (vii)
Find the range for the given sets of data:- 10,18, 9, 6, 22 iéph’w&irz.{_; (ix)

SECTION-II 1.0

NOTE: - Attempt any three questions.  24=8x 3 -ég/.’oglﬁﬁ.:,ulmfaﬁ/ Oy

5.(A)

(B)

The price of 80 shirts is Rs.22000. (e Jsed 30 it 22000 24 ure? 80 (S)-5
What would be the price of 30 such shirts?

-é»#@n&y&.@;u:;:w[{t%u 4,00,000 Jm?uﬁ@j,{ug;gmug,gé'%ui.ﬁgﬂ ()
An amount of Rs.4,00,000 left as an inheritance is to be distributed among a widow and
four daughters. Workout the share of each.

Wl otie kO LS LS 2:3:7 LBy 67200 SILL L ()6
Three members of a firm divide the profit Rs.67,200 among themselves in the ratio 2 : 3: 7.
What will be the biggest share of the profit?
Find the compound profit of Rs.50,000 E b Lo 1—;— Ul 4% 46050000 ()
at4 % for 1% years.

If the price of an airconditioner is -__ér}"@JJ?)?c.(, /‘d/ 16 % 41341 40,000 b A j:l..ﬁ/,l (.7
Rs.40,000. then workout the amount of sales tax on it at the rate of 16 %.

Evaluate by using Logarithm Table. 25'32:?25'4569 & J"c..uwwﬁﬁﬁ ()
Find the 5th term of a GP 4, —12, 36, ———— b5 § a,-12,36,-——— M} ()8

c={4,6810} s B={36912} «4={246}/ ()
AUBUC) = (4UB)UC &t
If 4={2,4,6}, B={3,6,9,12} and C={4,6,810 } |
then prove that 4U(BUC ) = (4UB)UC

Sl c3,5) 4 B(6,-3) « A(52) B ()9
Draw the graph by plotting the points 4(5,2), B (-6,-3) and C (3,5)

Find the standard deviation and variance -,ép%; /".’;:IJif!d;Lu{_L 1,2 3 4,6 8 11 ()
forthe values 1, 2, 3, 4, 6, 8, 11.

33-2017(S)-500 (MULTAN)



2017 () Qi}/f@ s

SSC PART-l (9th CLASS)
GENERAL MATHEMATICS GROUP-| ) Pl
» - " X
TIME ALLOWED: 2.10 Hours SUBJECTIVE _¢L» Z210 = &
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number _e_z-,»u:z._._,;.glrfﬁé &,.u/{}:z»l/?dirw,;d: KQV. ded
and its part number on answer book, as given in the question paper.
SECTION- .2

2. Attempt any six parts. 12=2x6 Eferrlinge S 2y
()  Define Inverse Proportion. EafFk )
(i) Increase of 40 books in the ratio of 5 : 4 A TG 40 el 504 il

What would be the number of increased books? .
(ii) 182 % of the houses have a television Yl LB Jungntus %S i)

what percentage do not have?
(v)  Define Ushr, SEF W)
(v)  Calculate Zakat on silver amounting to Rs.3,00,000. & pl"'i}r){w?ﬂ%u 3,00,000 = Gl b/l (v)
(vi)  Define Selling Price. i..ﬂ/J..m/.J (vi)
(vii)y  If atelevison is purchased for érwwc” erLo)/J‘Lu 6850 /,»iu‘a.u 6590 uno‘” oL I (vii)

Rs.6590 and sold for Rs.6850. Find the profit percentage. }
(vili)  Find the CP when SP = Rs.672 and profit = 5 %. ouB12 =edjed W 5% = fayied (i)
(X)  Define Bank Draft Sk (i)
3. Attempt any six parts. 12=2x6 ffjuuiifﬂia_df ..3/Jlr

() fweinvestRs1000ina Lyt Lt by 1000 ressbicbrl e S 10% A1 ()

saving account @ 10 % profit per year. Then how much amount would we get in one year?

(i)  Define Sales Tax. S ik (i
(i) Acomputer's price is Rs.34800 Seled Mt ..c_Jvf)’ 16 % Wiu e 34800 <A el (i)
inclusive of 16 % sales tax. What is the original price of the computer?
(v)  Wiite 89.99 in Scientific Notation. S 9 ()
(v) If logx=0.1597 then find the value of x -;-}P&:J X fn logx =0.1597 / (v)
(v) Solve, 108243 log243 = £¥ Wi
log9 log9
(vii)  Find Arithmetic Mean between 4 and 8. -_jép‘-" (A.M)}AJ‘?L').,V)JZ. 8.4 (vii)
(vili)  Find the specific term from the given A.P series- 9, 14,19, =~ a, Sl e FLE i)
(ix)  Define Geometric Mean. ..é..ﬂ/’?d/bﬁid 7 (ix)
4. Attempt any six parts. 12=2x6 éx fuLlic.J/fm’c.d:( A4Sy
()  Find CUD ff D={6,7} C={2,34,5} Iéplv cUb
(i) Define Complement of a Set. -5 J/’J J'/(.r (ii)

(é‘ifd'u)



(Vi)
(i)
(viil)

(ix)

If ¢ ={1,2 }, then write the number of
binary relations inC x C.

-g%u’@m&&; cxt Wo={12 } ﬁ ity ~ -

Represent (5, 0) on the graph. 5;&:/._:!; (5 0) 5 qw_)
Write down the coordinates of a point lying -J”IPEZUHJJBC—]MJ?H'LPU i)/}';—x Jw.v"dg Wl b (V)
to the right hand side of the origin on x —axis at a distance of 3 units from the origin.

Convert 20°¢ into F° . _; J',vJ F° f20°C (vi):
Define Mode. - | e (il
For the data set6, 2, 4, 3, 4, 5, 4, 5 SN 6,2, 4,3, 4,5 4,5 el (i
find Arithmetic Mean, !

For the set of values 10, 18, 9, 6, 22. Findrange. Eepef 10,189,622 0 (X

SECTIONAI (5.2

NOTE: - Attempt any three questions.  24=8x3J -;é;fa@méwmfaéf ik

5.(A)

(B)

ST Tt 6 §T 8 et LS 200 il 8 confuTBlibd ()5
A shopkeeper plans to prepare 200 articles with the help of 5 persons working s
8 hours daily. How many articles can be made by 8 persons if they work 6 hours daily?
Eeed el L 2 e iU e fed s 7,550,000 z.u".f @)
If the inherited property amounting to Rs.7,50,000 is left by a deceased who left a widow,
two sons and one daughter. Find the share of each in the inherited property.

Distribute Rs.2,00,000 as a profit #3:2:5 e ULl Ay 200000 SsBE ()-8
in a business regarding three persons, if their shares are in the; ratioof 3:2:5.

Find compound profit on Rs.600 for 4 years LB Ul 8% £ LU 4 2gen 600 - (L)

at the rate of 6 % per annum.

] I3 2 z " A 4
E Kb 0 LW U 16% (Sl e 4000 EGR G (7
The price of a tricycle is Rs.4000. If 16 % sales tax is charged, then calculate the amount of
sales tax on 30 such tricycles.

Solve with the help of Logarithm Table. 2'38—41';'—99—1 & J’LJ&JJW&?)@ (<)
Find three A.Ms between 62 and 2 . z’fp%;d" Lol 3 o 62 ()8

M C={26} sB={780910} A={1234}/ ()
(AUBYIC = 4U(BUC) -& =it
f A={1,2,3,4} B={7.8,9,10 } and C={2,6 } thenprovethat (4UB)UC = 4U(BUC)

Draw the graph. = 2x +1 ., y=2x+1 -J"‘{Jlf (.9
Find the Hormonic Mean of the values 3, 4 and 8. K 843 (Q)

35-2017(5)-500 (MULTAN)
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